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CHAPTER 10 | o B 51Mm 10-4 |
REINFORCEMENT The Harness Race coniesy -

2. Calculate the velocity of each horse.

Velocity of horse 1 = : Velocity of horse 2 =
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3. Which horse_traveiled farther in the 5.0 s? \

4. Which horse had the greater speed? W’h‘y?
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5. Explain how you can tell which horse was moving faster from

(a) the table __ (8-S »>x T8 s T = TVA L e

(b) the graph (o T, SR

6. Describe the motion of each horse.

Dl Eoa r VEL VIR Mt N\ v Tasmit W

.

7. (a) Find the position of horse 1, 8.0 s from the start. Explain how you found your answer.
N W aals A = N - aX%
X = §.3s 2O LSS0
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" (b) Use another method to find the position of horse 1, 9.0 s from the start.
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